A2t A535° 8 113 SERPEARE > EHER I RL-FEL I BRETEE3

|

[1]

Pg -

CEEE - EE 3N 127

1 2 3 4
B D D B
SRR R S 4y 0 3 20 4y (CBSE—(EEETEM 2 4y HIEREBRSY Rk - )
5 6 7 8
BDE BE CE AD
~HEFRE R S 43 3k 60 A3
9) (10) (11) (12-1) (12-2)
toLL, o 11.00 & 13.00 11.00 = 13.00
> d —EMu or Emv —mgH Et‘éﬁﬁ %‘éﬁﬁ
(12-3) (12-4) (13-1) (13-2) (14)
11.00 Z 13.00 \
Eiﬁ KT 2v/3mg V21mg 9.0
(15-1) (15-2)
0.225+0.3n®0.275+0.3n,n = 0.225+0.3n%£0.275+0.3n,n =
0,1,2,3.. . ZHIHE4 S 0,1,2,3.. 2B &4

REECEE 8 oo # 8 L

0y

16.
(2)120 m

v (m/s)

> £ (s)




